202
1038 200
203
605
70.26

281

287

287

661

10.73

70.00
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N = 202

15 16.73
3 17.82
i 545
25 20 9.90
26-30 32 15.84
31-35 29 14.36
36-40 38 1861
41 - 45 38 1861
45 41 20.30
4 198

(
26 1287
103 50.99
3 149
61 30.19

9 4.46



N = O o W

45
126
3

43
36
116

10

23
152

16
50
47

1a.011"

N = 202

22.28
61.38
1534

21.29
17.82
5742

347

544
4.95
196
1139
1525
0.9

192
24.75
23.21

3



43
46

%
%4

152

83
109

N = 202

21.29
22.11

4703
46.53
6.44

15.24

2179
6.93
347
149
0.99
0.50
10.89
16.34

0.99
41.09
53.96

3.96

3



37

1( )
N = 202
<
10.
104 5148
16 37.62
14 6.93
1 0.50
1 346
« 1 16.73
45 20.30 41 - 45 36- 40
1881 } 51.0
61.38

22.28 5

57.42 1-2 21.29

2 15.25
1 11.39
24.75
23.21 47,03
A 75,21 2179
53.96
41.09

5148 37.62



2
2
N =202
1 1% 6683 67 3317
2
135 6683 67 3317
3
130 6436 71 3514
4 134 6633 68 33.66
d.
131 648 71 3Hl4
6. 15 5693 81 4307
1.
166 8218 3% 1782
8. 167 8267 H 1.3
9 o 4504 111 549
10 19 941 183 90.59
1223 60.54 796 39.40

38



60.54

39.40

8267

6218

66.83

66.33

64.36

56.8
45,04
941

66.83

64.85

39



10.

146

139
136
157
147

179
87

146
%

12

2305

N = 202

12.21

68.81
67.32
11.12
12.11

88,61
43,06

12.21
4152

35.64

64.60

5

63
66
45
5

23
115

56
106

130

609

21.12

3119
32.67
22.28
21.22

11.39
56.93

21.12
5248

64.36

3540

40



67.32

3540

88.61

11.12

12.17

1221

68.81

41,52
43.06

12.21

35.64

64.60



149

105

n

120

9

%

%

87

867

N =202

1376 53

5198 97

590 8l

5040 82

46.03 109

4152 106

4152 106

4307 115

53.60 748

26.23

43,01

40.10

40.59

53.96

5248

5248

56.93

46.34

42



53.60

46.34

13.76

59.90
59.40
51.98
46.03
4752
4752

43.07

43



10.

107

i}
135

m

147

140

125

107

137

131

N =202

5297

69.80
66.83

54.95

12.11

69.30

61.88

52.97

67.62

64.85

55

62

1

%

65

[

41,02

30.20
3.17

45,04

21.22

30.69

3811

47,02

32.18

3.14

44



i

4 5( )

N =202
41 6980 61 3020
142 6399 700  36.00
5
69.80
69.80
1217
67.82
66.83
64.985
61.88
54.95
5297

6930

5297

45



145

117

88

143

167

133

19

1

949

N = 202

118

571.92

4356

10.79

82.67

65.84

39.10

811

58.12

o7

65

114

59

3

69

123

125

126

2821

42.10

56.43

29.20

17.32

34.16

60.89

61.88

41.21

46



58.12

41.21

82.67

118

10.79
65.84

57.92

43.56

39.10
1 3811

47



125

114

o7

130

466

N = 202

6188 17

5643 88

4801 105

64.36 12

57.67

242

38.11

4356

51.98

35.64

42.32

48



57.67

4232

61.88

56.43

64.36

48,01

49



157

118
165
ol

64

120

165

N = 202

11.12

88.11
61.63

45,04

31.68

59.40

63.93

45

24
37
i

138

62

431

22.21

11.88
1831
54.95

68.31

40.59

36.05

50



63.93

36.05

8163

11.12

5940

3168

45,04

88.11

51



52

N =202

103 5099 9 49.00

84 4158 118 5841

104 5149 97 4801

102 5050 100 4950

21 5990 80  39.60

48 7321 4 2673

118 3841 54 2673

780 5516 602 4257



55.16

1321

4251

5149

59.90

5841

41.58

50.99
50.50

53



10

nv

153

108

118

92

99

143

805

N = 202

15.74

5347

5841

45,54

49.00

70.79

58.82

49

9%

84

110

103

399

24.26

46.53

41.58

54.46

50.99

29.20

4117

o4



10

58.82

10.79

5341

.17

h8.41

15.74

49.00
45.54

5



1

60.54
64.60
53.64

63.99
58.72
o7.67
63.93
55.16
58.82

59.67

N = 202

39.40
3540
46.34

36.00
41.27
42.32
36.0
4251
4117

40.50

5



11

40.50

64.60

63.93
60.54

58.82
58.72
57.67
59.16
53.64

63.99

59.67

57



*» *

2.50

2.3

242

241

2.34

2.25
2.8

2.69

2.13

202
SD

0.87

0.84

0.84

0.89

093

0.85
083

102

0.78

58



(X = 2.29)

59

1 1]

213
(X = 269)
(X = 250)
(X = 24)
(X = 241)
(X = 236)
(X = 23
(X = 228)
(X = 226)



13

© OO N oo ol &~

11,

12

N = 202

X

2.62

2.33

2.35
221
189
2.20
2.04
2.58
2.38
2.55

267
211

2.32

SD

0.87

0.86

0.82
0.82
0.74
083
0.92
101
0.94
104

0.99
0.88

0.89

60



13

2.32

(X= 262
(X= 259)

(X= 25)

(X= 239)

(X= 23

(X = 26)

) (X = 23)

61



14

N = 202

X

2.12

2.64
262

2.74
2.63
251

2.10

2.66

SD

0.90

0.98
0.98

0.9
0.94
0.90

102

0.9

62



(X = 270)

14

266
S (X=274
(X =27)
(X = 264)
(X = 269)
(X = 26)

(X = 257)

63



10

1L

12

N = 202

X

2.10
249
241
2.5
2.15
2.21
249
252
249
2.26

2.39
213

2.31

SD

102
0.87
0.9
0.92
0.85
091
1.00
0.9
2.26
0.9

0.87
0.85

103

64



15

65

2.31

(X = 270)
(X = 25)

(X = 249)
(X = 249
(X = 249
(X = 241
(X= 239)



16

N = 202

X

2.13

2.26
2.34

2.04
2.24

2.28

2.5
251

2.25

SD

0.93

0.90
0.92

0.89
0.97

091

0.84
0.84

0.90

66



67

16
2.5
(X = 25)
(X = 234)
(X = 228)
(X= 22)
(X = 229
(X = 224)
(X = 213)

(X = 204)



17

17

239)

N = 202
X SD

239 087

252 087
246 084
233 087

242 086

242

25)

(X = 246)

(X =239

68



18

18

(X = 250)

N = 202

~X

2.16

2.08

201

2.65

2.76

2.98

2.31

SD

0.86
0.78
0.85
0.90
0.87

0.87

0.85

2.3

(X = 276)

(X = 265)

69



(X = 216)

(X = 208)

(X = 200)

10
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19

N = 202
~X SD t

258 087
231 084
239 087

235 087
220 087

221 087

232 089

232 080
233 0.86

19
2.33

(X = 259)

(X = 239
(X= 23
(X= 23)
(X = 23)
(X = 23))
(X = 220)
(X= 220

71



20

N = 202

X

2.0

2.60

249

261

2.65

2.57

SD

0.88

0.85

0.87

0.89

0.87

0.87

12



)

(X = 260)

20

(X = 265)

(X = 249)

2.57

13

(X = 260)

(X = 250)



2

U= IS B JCI N N

2
2.38

(X = 266)
(X = 257)

(X = 24)

(X = 237)
(X = 239
(X = 23)
(X = 225)
(X= 213

N « 202

X

2.13
2.32
2.66
2.31
2.25
242
2.31
2.33
257

2.38

(X = 237)

SD

0.78
0.69
0.9
103
0.90
0.86
0.85
0.86
0.87

0.88

14



22

25
26-30
30-35
36 - 40
41 - 45

45

107
87

N =200

53.50
4350
3.00

30.50
45.00
12.50
5.50
2.50
3.50
0.50

34.50
57.50
1.00
6.00
1.00



2 ()

N — O O W

1
'
S N

190

93
46
o7

21
39

38
93

18
94
36
32
20

N =200

95.00
2.00
3.00

46.50
23.00
28.50

2.00

10.50
19.50
1.00
19.00
46.50
3.50

9.00
47,00
18.00
16.00
10.00

76



2 ()

N

+/\

+ street ball

131
68

10
62
26

13
127

138
60

N =200

65.50
34.00
0.50

35.00
31.00
13.00

36.50
63.50

69.00
30.00
1.00



95.00

22
2630 i

1950 -

35.00
63.50

30.00

28.50

18.00

$
45,00

1-2

57.50

46.50

31.00

69.00

25

41.00

65.50

53.50
30.50

1

36.50

8



23

N = 200

2.13

2.14

191
2.3

2.12
1.9

2.10
189

2.64

192

SD

0.87

0.64

0.66
0.79

0.80
0.68

0.73
0.71

0.89

0.78

]

19



23

(X = 210)

80

!1
192
(X = 264)
(X = 229)
(X= 210
(X = 213)
(X= 21
(X= 197
(X = 1%)

(X = 189)



24

11

12

Xl

2.38

245

2.21

2.08
1%
240
186
2.55
186
2.14

2.69
211

2.2

200

SD

0.90

0.97

0.78

0.70
0.86
0.80
0.82
0.83
0.82
0.73

0.9
0.88

0.83

6l



2 ]
222

(X = 269)
(X = 255

(X = 245)
(X = 240)

(X = 239)
( ) (X =221)
(X = 2.14)

(X =2.11)
(X = 209
(X = 199
(X = 180
(X = 18)

82



25

N =200

X

2.65

2.56
2.66

2.8
2.68
211
2.99

2.66

SD

0.75

0.80
0.82

0.77
0.80
0.87

0.84

0.80

83



25

(X= 259)

84

2,66
(X = 28)
(X = 270
(X= 269)
(X = 266)
(X = 265)

(X = 250)



10.

11,

12

2

N =200

2.19
2,67
2.30
2.50
2.10
2.33
2.68
248
2.46
2.33

2.63
2.15

245

SD

0.96
0.94
0.85
0.84
0.79
0.89
0.9
0.80
093
061

0.69
0.69

0.84

]

65



86

%
245
(X= 279)
(X= 268)
(X = 267)
(X= 269
(X = 250)
(X = 249
(X = 246)
(X = 23)
(X= 23)
X= 230)
(X = 215)



21

N = 200

X

2.32

2.3
2.39

189
2.3

2.24

2.3
2.38

2.25

SD

0.9

0.79
0.84

0.80
0.85

083

0.77
0.75

0.82

87



88

27 #'
295
(X = 239)
(X = 239)
(X = 23)
(X = 23)
(X= 22
(X = 223)
(X= 223

(X= 18)



28

»

N =200

SD

89

28

(X = 249)

248

245
231
2.15

2.34

(X = 245)

0.70

0.80
0.73

0.84

0.76

2.34

(X = 215

(X = 231



29

N =200

X

2.2

2.15

2.03

259

2.90

2.38

2.2

SD

0.84
0.72
0.71
0.80
0.70

0.70

0.74

90



29

(X = 239)

(X = 215

( X =2.02)

2.21

(X = 203)

91



N=20 )

X

2.08
1%
2.03

2.10
196

2.19

2.19
211

2.08

SD

0.77
0.78
0.68

0.76
0.73

0.83

0.75
0.1

0.75

1

92



3l

N = 200

~X

2.21

2.96

2.24

2.24

2.54

2.31

SD .

0.78

0.84

061

0.75

0.79

0.79

9%



%

31
2.31

(X = 256)
) (X = 25
(X = 227)

(X = 220
(X= 22



32

~N o o1 o N

32

2.28

(X = 266)
(X = 257)

(X = 234
(X = 227)
(X = 225
(X =22)
(X = 208
(X = 19)

N = 200

192
2.22
2.66
245
2.25
2.34
22

2.08
257

2.8

(X = 245)

SD

0.78
0.83
0.80
0.84
0.82
0.76
0.74
0.75
0.79

0.79

%



33

(1-13 )

(14-24 )
(5-60 )
(60

)

N =203

161
44

23

9%
8l

o7
25
11
10

74.38

21.68

3.94

11.33

46.30
39.90
148
0.99

4178
1231
34.97

491

96



B()

33
42
of

oo

127

13

o

HI\JI\J|:

5
of
69
1

5

N = 203

16.27
20.69
33.00
26.10

3.9

62.57
6.40
6.40
443
0.99

11.33
541
0.99
0.99
0.49

27.10
28.08
33.99
8.37
2.46

o7



8()

102
%

19
123

90
103
10

138
of

201
2

N =203

50.24
46.80
2.96

38.92
60.59
0.49

44 34
50.73
492

67.98
28.08
3.94

99.01
0.99

%



B()

14-24 (

62.57

3
) 46.30
26.10
33.99
50.24
60.59
94.09

41.38

19

oo B~ o

84
118

2560 (

4178

11.33

33.00

28.08

46.80

99.01

67.98

9

N =203

94.09
2.96
197
0.99

41.38
58.13
0.49

7438
) 3090
3497

44 34

58.13



2
3
N = 203
X SD
j 245 082
)
237 090
3
( ) 221 086
4
206 083
5 1% 075
6 224 087
7 190 085
8 248 106
g 217 093
10 239 106
227 089

100



3 |
227
(X = 248
(X = 245
(X = 239
.
(X = 237
(X = 224)
B )(X= 221
(X - 217)
(X = 206)
(X =19)

101



3

N = 203

X

2.63
2.57
231
2.33
2.33

2.44

35

SD

101
0.9
0.89
0.92
0.92

0.94

257)

102

244



36

N =

2.23
2.16
2.2
251
2.65

2.3

36

(X = 223)

(X = 216)

203
SD

0.86
0.79
0.79
0.86

0.95

0.85

2.3

(X= 265)
257)

(X = 20

103



37

37

2.34

(%=232)
(X = 227)

N =203
X SD

221 089

244 0.94
232 08

234 089

(X = 240)

104



38

1 2 3
N=202 N=200  N=203  N=605
XSb X SD XSD X 8D

256 093 238090 245 082 246 089

234 081 245097 237 090 237 083

232 078 221078 221 086 227 081

210 073 208 0.70 206 083 208 0.76

186073 1% 08 192 075 191 07
217080 240 080 224 087 227 083

192 087 18082 191 08 18 085

105

F

2.1932

0.2517

0.8589

0.1136

0.6765
3.8236*

- 0.3001



106

B()
1 2 3

N=202 N=200  N-203  N=605 F

X SO X SO XSD X SD
8.

250 093 255083 248 106 251 094 02747
9 230 084 214073 217 93 220 083 220524
10. 250 100 26008 239 106 249 098 23457

205 084 22608 222089 224 085  0.2590
*P < 05( 05 FaBR= 299)

38

(X=224)
(X= 251)

158 10

05 X



39

0 < 06 (05 F26R = 299)
39

05

df

602
604

SS
5.181
407.903
413,084

107

(6

MS F
2591 3823
0678



40

(
(Scheffé’s test)

217
211
2.40
2.24

< 05

40
/iy
(Scheffe’s test)
( 6

240
0.23*

108

2.24

0.07
0.16



i ]

11 2 3
N=202 N=200  N=203
XSD XSD XSD

270 102 279 096 263 101
249 087 267 094 257 0.96
241 096 230 08 237 089
227 091 233 089 238 092

225 092 250 084 233 092

242 093 251 089 245 094

*P< .05 (.05 FaRR= 29)
4 1]

(X = 2.44)

N=605
X SD

268 101

259 0.94

233 089

2.21 090

231 089

244 0.92

109

14923

11025

0.3527

5.1514*

4.0968*

0.3057



110



42

*P < 05 (05 ¥2602 = 299)

42

df

602
604

m

SS MS F
8.3156 41579 5.1512*
485.8404 0.8074
494.1558

05



43 )

( 4
) (Scheffe’s test)
221 2.33 2.38
221 | 0.06 0.11*
233 | 0.05
2.38
< 05
43
( 4
) (Scheffé’s test)
(



44

(5 )
df SS MS F
2 6.437 3204 4.0965*
602 4731385 0.7864
604 4195772

*P< {5 (05 ¥2f = 299)

42



45

< 05

(Scheffé’s test)

45

(

5

2.05
2.90
2.33

2.25

)
250 233
0.25* 0.08
0.17
(5

(Scheffe’s test)



115

% ]

1 2 3
N=202 N=200 N=203 N = 402 F
X SD X SD X SD X SD

L
216 086 202 084 223 086 211 086 34361

2
208 078 215 0.72 216 079 217 075 2.0045

3
' 20 08 203 071 202 079 200075 0.8014

4,
276 087 250 070 262 095 255 080 0591

5.

265 090 259 080 257 086 256 083 7.3174*

233 085 225 075 232085 226 079 L7014
*P < 05 (05 F260 = 299)

1 ]

(X=226)



05

116



117

4

’ df SS MS F
2 5.0574  2.5294 0.4365*
602 442 9594 0.7368
604 448.0176

< .05 (05 ¥2602 = 2.99)

4



118

43

(1
)
(Scheffé’s test)
2.02 2.50 2.23
2.16 0.34* 0.07
2.02 - 0.21
2.23
*< 05
18
IR
) (Scheffé’s test)

(1



49

*n < 05 (05 ¥2602 = 2.99)

49

df

602
604

S
9.9507
409.4458
419.3954

05

MS
49757
0.6800

F
1.3145*

119



120

50 J
(5
) (Scheffe’s test)
2.5 250 2.33
2.25 | 0.25* 0.08
250 - 0.17
2.33
< 05
50 ]
(W3 D
) (Scheffe’s test)
(5



ol

1 2 3
N=202 N=200 N=203 N=605
X SD X SD X SD X §D

231 080 226 076 203 089 220 081

242 093 251 089 245 094 246 092
234 084 234 080 226 089 231 084

235 085 237 081 224 090 232 085

51

(X =23

05

0.2598

0.3055
17013

0.0068
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